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< 50,000
Al 50,000
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FAF
3y &
2:

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

01 2= AIEE X 100,000 70,000 30,000
OZ2Y HE= AY 100,000,000& = 14! 100,000

50,000
50,000

= M

AR2YSHIILYHIXA(Z2) 532,124 528,000 4,124
133,031
212,850
186,243

= MW

301 LELE A= 532,124 528,000 4,124
133,031
212,850
186,243

= H W

LRSESES 532,124 528,000 4,124
Odzg sEJ| Heddl XNAAS

1,520,929 = 3280 & 498,865

124,716

199,546

174,603

0

= HnH

O3xg dgtl XA

101,399& * 32870 4 33,259
8,315
13,304
11,640

= M H

Z2EA2HIXE(2) 107,128 110,375 N3, 247
26,782
42,851
37,495

= MW

301 LELE A= 107,128 110,375 N 3,247
26,782
42,851
37,495

= W

01 AR 2ZH =53 107,128 110,375 N3, 247
O3dzg =4l XNEAMI
326,609 * 3280 A 107,128

26,782
42,851
37,495

= N W

SEHEASSAHFAIME(Z) 8,400 0 8,400

4,620
3,780

=

301 LELE A= 5,400 0 5,400

1,620
3,780

= M

EEPE 5,400 0 5,400

350,000& = 1HA « 128 4,200

= 1,260
Al 2,940
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AN FUHEX S D
Y Lo=2X SH(AEEX/ L0 - FHad)
Sel: ARY 2YMY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZSAH=2E ity
200,000& = 10HA + 63 1,200
= 360
Al 840
402 BI2FX=201 M 3,000 0 3,000
< 3,000
01 It 2 AL E X 3,000 0 3,000
OZSH=AE N2> 3,000,000& = 14 3,000
< 3,000
M3 =XAE K& 11,542,331 6,061,916 5,480,415
= 3,343,690
< 2,351,736
Al 5,846,905
M3 EXAIE XA 68,280 52,200 16,080
301 et a = 27,000 26,400 600
01 MEIBZE 2063 27,000 26,400 600
OgE & o2 ASIAE HET 22
10,000& = 900 = 33 27,000
307 g1zl & 41,280 25,800 15,480
11T M Z2XAIS EX 41,280 25,800 15,480
OSAHL AL nEH XA (Bx8 FNH)
50,000& = 43¥ » 123 25,800
OsSHLolZe| At S4ld NJA(BExs FH)
(100& * 25 = 22 * 83 * 128) * 43Y = 15,480
75%
COSIANE AT NA(S) 3,300 26,480 A 23,180
< 990
Al 2,310
307 21201 A 3,300 26,480 223,180
< 990
Al 2,310
11T MISAASEX 3,300 26,480 223,180
OLe=EXAE 4R EHRA & JEH X
2 55,000& » 60 3,300
< 990
Al 2,310
Wt =SXANER2E (%) 150,000 120,000 30,000
< 6,000
Al 144,000
307 glz2+ol & 150,000 120,000 30,000
< 6,000
Al 144,000
10 ALSISXAIEEE2GHEX 150,000 120,000 30,000
OMIt-el=XdEH 29
150,000,000& = 1JH A 150,000
< 6,000
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rics

2N
X ZH -
L= B

el

R
ST (MR /=0 - A H)
Ald X (B9 ®R)

>
forro o
JL e 0z

Pl 0]

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 144,000

LOEXANE JIsEBZAS (D) 36,936 3,000 33,936

18,468
5,540
12,928

= W

402 RI2FX=01 M 36,936 3,000 33,936
18,468
5,540
12,928

= W

ES 36,936 3,000 33,936

33,436,000 ~ 14 33,436
16,718
5,015
11,703

= M W

ZHEL
3

,500,000& * 14 3,500
1,750

525
1,225

O
02
44
-
o
>
MO
=0}
02
o

= 0N W

CLOEXNANER2EXNA(E) 4,896,497 513,356 4,383,141

1,428,077
3,468,420

= M

301 et d = 1,015,950 0 1,015,950

304,785
Al 711,165

m

01 A28 X =0dl= 1,015,950 0 1,015,950
OFIVILYINASS AL SHHEESXH
17,516,379& = 58 1,015,950

304,785
Al 711,165

in

307 21201 & 408,720 513,356 A 104,636

81,744
326,976

= N

A S XA E X 408,720 513,356 A 104,636
OLQ=XAE SAX==H
1,231,0843 = 332 408,720

81,744
326,976

= M

308 MXItHMS0IH 3,471,827 0 3,471,827

1,041,548
Al 2,430,279

H

NIJIEtRE= 3,471,827 0 3,471,827
OFIeLs0HE UM 83
13,251,248 = 262 3,471,827

1,041,548
2,430,279

= M
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2N
X ZH -
L= B

el

>
forro o
JL e 0z

Pl 0]

rics

Xl & ot
S (MSIEX /=
AE &

nx

ol .

HAH)

= A

CHE - EI(BA) - NRAY - BYS

0l &t o

=

i
2m

CUETAEIsEL MG

25,000

15,000

10,000

401 AIEHIZ 2 I

25,000

15,000

10,000

01 A& HI

ONBLZH otaE

=l

2

24
25,000,000 * 1

Al
A\

25,000

25,000

15,000

10,000

foh

FE al

it
>

b (

]
o
Olon
40
H

zZ W

5,642,000
2,821,000

846,300
1,974,700

1,475,500

4,166,500

401 AIEHIZ 2 I

= Hn A

5,642,000
2,821,000

846,300
1,974,700

1,475,500

4,166,500

o
>
x
=

2

O
fol
Ho
o
[pal
Olon
{0

A

5,642,000,000& * 1

Al
Ay

= N W

5,642,000

5,642,000
2,821,000

846,300
1,974,700

1,475,500

4,166,500

02

U
>
B
0
02
=
0
M

= N W

720,318
504,222

64,829
151,267

703,863

16,455

307 glztol &

=z W

720,318
504,222

64,829
151,267

703,863

16,455

o
>
e
e
10

O
02
0
z
iz
Ao
02
=
o

720,318,000& * 10H &

= MW

720,318

720,318
504,222

64,829
151,267

720,318

02

b
m

0]
b
m

H

H

973,014
16,200
197,935
60,628
698,251

962,002

11,012

0]
b

i
Ho
0x

H

H

973,014
16,200
197,935
60,628
698,251

962,002

11,012

264,774

251,292

13,482

18,272

10,496

7,776

18,272

10,496

7,776
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2N

EHa: ;E—Zﬁ\_'éav?w’é L BS(AIEX/ =0 - HAH)
el Ead 84 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 113,125 108, 100 5,025
01 A& HI 113,125 108, 100 5,025
O a8gsX4dH MEAC2] X
2,000,000& = 14 2,000
OOXNEAE0ISEE =S H HIEEY EXSA
45,0003 = 525m’ 23,625
OOXNEAESIE =ZH 0INHLX HEE
Xl 12,000,000& * 14 12,000
OOtXIHAEHOIY & 210151 & A & 2526028 &
HBA 2,000,000& = 14 2,000
OSFANELE-SHE LH0IZE EF3A
5,000,000& = 14 5,000
OZFANEFLESSHI 2ASLEDL M E A
3,500,000& = 14 3,500
Ot EAEHSHIA =23 A
2,000,000& = 14 2,000
OFAHUZSE KotSAasa HBIEE=3 At
1,000,000& * 14 1,000
OGN B35 10,000,000& * 14 10,000
OO EALEIEE 222 &1
130,000& * 400m 52,000
405 RHoHE S HI 2,350 7,200 A 4,850
01 AL EZFH S 2,350 6,200 A 3,850
OBAHSHAY AI(SH) 2Y
1,000,000& * 14 1,000
OOtXIOIE & s&&d 7¢
1,000,000& * 14 1,000
OOtXIOFrg & &0 ¢ 350,000& = 14 350
Fad 24 2 ES 113,530 143,530 A 30,000
201 L2l 8,330 8,330 0
01 At 22l 8,330 8,330 0
OddEo & =6t3tE ¥ 2,000&8  1,000& 2,000
OHAE R4S FAHA +g
70,0004 = 10¥ = 13l 700
OF3A2EES E22 MHE 1,300
— =9 60,000& * 504 300
—S2= oM 1002 » 5,00000 » 2& 1,000
OFad=Esgeet A= MEA Hexs f
Ha =8 350
—s)Fs= €= 1,500& * 100 150
-7 SJdE & A 2,000& = 100A 200
Ogtu=died s2= 1,600
— 89 60,0002 = 104 600
—E2=20M 100& = 10,0000H 1,000
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AN FUHEX S D
F: HAE B4 L BS(MISEA/E - HAH)
ool AW S4 EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEFEENENEFERIEEIEEEEE S
70,0004 = 179 « 23| 2,380
301 et 8= 21,000 21,000 0
04 S LHUHAH X 19,800 19,800 0
OFAEHEE Uts=Z0 29|
2,500 * 1259 = 43| » 12¢ 15,000
OFAHEHMEE teZU 29 XEs Xl
200,000& * 2JHEX » 128 4,800
NJIEEd= 1,200 1,200 0
OFAYd Foied MDA 243
50,000& = 224 » 123 1,200
307 gl2tol & 56,200 86,200 230,000
02 It M AHE L 20,000 20,000 0
Ost=42E S 28 SZ0REAN A2 2
10,000,000& * 14 10,000
Ostu =0 AR 10,000,000& * 14! 10,000
04 QIZFHALAIH B = 18,000 18,000 0
O&¥A2d sEZ28 N&
12,500,0009 = 141 * 80/100 10,000
OZF=Al 424 IJIH
10,000,000 = 14l * 80/100 8,000
11T MISXASEX 18,200 48,200 230,000
OFLHASSTHAH T2 0 (A2AA) 82
3,000,000& * 14 3,000
OFLHAGSILNH SHEAZ(HUS) 29
800,000& * 43 3,200
OFAGAG=ERIHE AlRJI2&sdUs 29
5,000,000& = 14 5,000
OFAdEd, FHASEHE &3
5,000,000& = 14l 5,000
OFEA2E4EEXNEEH HASAH 29
2,000,000& = 14 2,000
308 XXM SOIA 28,000 28,000 0
08 WEII20HStE X 28,000 28,000 0
OAZSEA(BNEHWY)2E 28,000
— ol 600,000& = 108 = 4004 24,000
234l 100,000& = 108 * 400 4,000
HAGELNSOHOI2ZE XA (=2) 159,120 149,100 10,020
J| 79,560
< 23,868
Al 55,692
307 21201 A 159,120 149,100 10,020
J| 79,560
< 23,868
Al 55,692
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SAM = 2
Hu: HAW SH Y PS(ASEN/0 - HAE)
e 3AdE 54 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
11T A EXAIEEX 159,120 149,100
OFAW WIS O5HH0 2% K&
159, 120,000& » 1JH A 159,120
J| 79,560
= 23,868
Al 55,692
HAEHEHIL(2) 2,800 2,800
bl 1,400
Al 1,400
307 2iz2to| & 2,800 2,800
J| 1,400
Al 1,400
11T AISIEXAIEEX 2,800 2,800
OFA4dE FORAYS &9
2,800,000& * 1JHA 2,800
J| 1,400
Al 1,400
oMY EESE LS (E) 6,700 6,700
= 2,000
Al 4,700
307 2Iz2t0| & 6,700 6,700
= 2,000
Al 4,700
11T A EXAIEEX 6,700 6,700
O3 FAHE Mg Tz)d 29
6,700,000& = 1A 6,700
& 2,000
Al 4,700
NZHAESSXAMHTE(R) 87,670 85,500
J| 43,835
Al 43,835
307 212t0| & 87,670 85,500
J| 43,835
Al 43,835
10 M SXAEEHESIHEX 87,670 85,500
OHAEANLSTME 2 (2SE)
87,670,000 * 1 87,670
J| 43,835
Al 43,835
NZHAANGHE SETA(E) 95,000 90,000
= 20,000
Al 75,000
307 212t0| & 95,000 90,000
o= 20,000
Al 75,000
10 M SXNAEEHESIHEX 95,000 90,000
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SRAR
X ZH -
L= B

el

2SS MBS/l - HAad)

- _ _ RE]
M- B (B H) - NSAY - B %Ei 2t
OZ4+d Ag=qdH 22(dgg)
95,000,000 * 14! 95,000
< 20,000
Al 75,000
ANZEAELHAE XIS A XX (2) 41,280 38,880 2,400
9] 20,640
Al 20,640
101 Q124 H| 20,640 19,440 1,200
Dl 10,320
Al 10,320
02 JIEFR &2 %= 20,640 19,440 1,200
OBAESSOIE HAETICARS BHXI (AR
H kA 20,640,000 * 1 20,640
J| 10,320
Al 10,320
307 2Iz2t0| A 20,640 19,440 1,200
J| 10,320
Al 10,320
11T A EXAIEE X 20,640 19,440 1,200
OGFANEAESLHAIA HAEXZAF BIX XIS
20,640,000 * 14! 20,640
J| 10,320
Al 10,320
HAEHNSSOIE XL (2) 28,000 28,000 0
= 11,200
Al 16,800
307 212t0| & 28,000 28,000 0
= 11,200
Al 16,800
11 A EXAIEEX 28,000 28,000 0
OFA4E 2 sty 29
28,000,000& * 14! 28,000
= 11,200
Al 16,800
HAARStW X (F) 25,000 25,000 0]
o= 7,500
Al 17,500
307 212t0| & 25,000 25,000 0]
o=} 7,500
Al 17,500
02 QIZHBAAIRE E X 25,000 25,000 0
OFAEHIEREN 2Y 25,000,000 * 14! 25,000
& 7,500
Al 17,500
AW Sol2lEs(2) 12,500 6,000 6,500
= 5,000
Al 7,500
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AN FUHEX S D
F: HAE B4 L BS(MISEA/E - HAH)
ool AW S4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 12,500 6,000 6,500
= 5,000
Al 7,500
11T M SXASE EX 12,500 6,000 6,500
O&ad sotel s XA
12,500,000& * 14 12,500
= 5,000
Al 7,500
HAHRSIESIR () 20,000 20,000 0
< 6,000
Al 14,000
307 gl2tol & 20,000 20,000 0
< 6,000
Al 14,000
04 DIZHHALALSE E X 20,000 20,000 0
OZ&4=EE F44Y SEMH=AM
20,000,000& = 14 20,000
< 6,000
Al 14,000
HAABSESEHI(E) 2,520 2,520 0
< 1,260
Al 1,260
307 21201 A 2,520 2,520 0
< 1,260
Al 1,260
02 IZtE S AHE L 2,520 2,520 0
OSnZ oy U Y 2= X
2,520,000& = 14 2,520
< 1,260
Al 1,260
FAUZHEHMEZOHR2IXE 16,000 16,000 0
307 21201 A 16,000 16,000 0
04 QIZFHALAIR B = 16,000 16,000 0
OFAag2dEHH 2208 29
4,000,000 * 4042 16,000
ELAEHHEESHAXA 12,000 12,000 0
307 21201 A 12,000 12,000 0
02 QB AAHEX 12,000 12,000 0
OHSEUALNS FLUHNE BSXY
12,000,000 * 14! 12,000
HLAHESEWAZ 11,120 7,680 3,440
201 Let24E] 5,000 2,000 3,000
03 &Ar2 Z I 5,000 2,000 3,000
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2N

HE: HaE B4 U SE(MEEA/L0 - BAU)
ool HAW 84 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFAadESOI2] SH3AIY XIS (=& 0l A
3,000,000& = 1A 3,000
OFAEE239 A HAEUSAHARARSG S#MAI2HH|
2,000,000& = 1A 2,000
301 LBt A= 6,120 5,680 440
09 HAIAHI EAZ 6,120 5,680 440
OFAES=MOIL, 28, HSESEIA o
Hl &2 & 90,000& * 92 * 1¥H x 23] 1,620
OFAYE olHdE8s SN oyl 24
90,000& * Hh&H x 1« 450
OFHAY & S8 FAJEEIIXA 24
90,000 * Hh&H » 1« 450
OFeHER0l HZ(Z) ZILA HHl 24
90,000& * 9™ x 1« 810
OEHE==20] StAHH=Z ZEHIIA OBl 24
90,000& * 17¥ = 1¢ 1,530
OFdSHAEMSTASAIA Wl EFIHA O]
g Ak 90,000& * 14% » 1g 1,260
FAad EHIKAAE(2) 6,000 6,000 0]
J| 4,200
Al 1,800
301 et A= 6,000 6,000 0
J| 4,200
Al 1,800
01 Al E& A %52 6,000 6,000 0
OFAHE EEXNIANY 6,000,000& = 1Al 6,000
J| 4,200
Al 1,800
St =CAETE 2 SIS (2) 69,000 67,000 2,000
J| 48,300
Al 20,700
307 2iz2to| & 69,000 67,000 2,000
J| 48,300
Al 20,700
11T AISIEXAIEEX 69,000 67,000 2,000
OstIEC HAW X U &t X
9,000,000& = 14 69,000
J| 48,300
Al 20,700
M A AH (=CIMES X)) (IIEH/IIE 237,132 216,328 20,804
olea 2HH| 134,606 124,956 9,650
ola2AY| 134,606 124,956 9,650
101 e1214| 132,401 122,436 9,965
02 JIEFR &2 %= 47,148 42,776 4,372
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AN FRMSTA L
M HE2AZH(FUMEXZD)(IIEH/IIE)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBAU=819 &AL S AAZA A 2 OF
2) 47,148
—Jles 2,106,910& » 1H » 128 25,283
—JtE=E 1,440
b < Xt 40,0002 * 2% * 123 960
Il e 20,0008 * 22 » 12 480
NEEEEE
8,000& = 30AI2t = 2 * 128 5,760
— ZHZ A 130,000& = 2H » 12& 3,120
— St &l
2,106,910& » 1/30 » 9 * 29 1,265
— &&= 5,140,000& » 29H 10,280
03 RIHAZ 2 E =+ 85,253 79,660 5,593
OO0tXls E2E0EE 2eld 44,126
—Jl=s 1,275,100& * 1€ * 123 15,302
— &0z 1,275,100& » 1F * 400% 5,101
— EEFOt
1,275,100& » 1H = 75% * 23] 1,913
—JIE< (= X) 40,0008 * 1 » 128 480
— t=E==(JIEH 20,0004 = 2¥ « 123 480
S ECE
9,854& = 150% » 15A12 » 1H » 128 2,661
—gy224+g
78,8323 * 150% * 1H = 118 13,954
—HsssIt=Y 78,8328 * 198 » 22 1,735
— = gl 100,000& = 1 = 128 1,200
— WSl 100,000& » 18 = 128 1,200
— I =l 100,000& = 1€ = 1H 100
O st&a 2elel 41,127
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